This code explains how to deflate a nominal variable using the CPI.  You create the deflated variable in the DATA step section of your code, before using it in any of the PROCedures.  In the code below, I create a deflated version of exppp for the years 1999 – 2002.  I only need 4 values of the CPI to do this.  At the bottom, I have included the CPI values for the years 1990 – 2009.  If you need other years, you can find them at the BLS web site.
data one;

infile 'J:\COB\DOYLEJM\sat_data_1999_2002.txt' delimiter='09'x firstobs=2;

input state
$ year vsat msat exppp pertake;
** assume that I have variables YEAR and STATE for my ID's, and I have a variable

  named EXPPP that contains educational expenditures per pupil in dollars.

  My data are annual for the years 1999 - 2002.

  To construct a real measure of expenditures per pupil, we first construct a variable named CPI using data from the BLS.  Then we use it to deflate the variable EXPPP.  Notice the PRINT statement. It is important that you print out your data and make sure that the code did what you intended.;
if year = 1999 then cpi =   166.6;

if year = 2000  then cpi =  172.2;

if year = 2001  then cpi =  177.1;

if year = 2002  then cpi =  179.9;

REXPPP = EXPPP/(CPI/100);  ** this code creates real exp per pupil;
proc print;  ** if you want to look at the data, do a proc print;
  var year state cpi exppp rexppp;

  run;
Here are the values for CPI from the BLS. If you need even more than these values, go to the BLS web page to retrieve it.

Series Id:    CUUR0000SA0

Not Seasonally Adjusted

Area:         U.S. city average

Item:         All items

Base Period:  1982-84=100

Year   annual CPI

1990  130.7

1991  136.2

1992  140.3

1993  144.5

1994  148.2

1995  152.4

1996  156.9

1997  160.5

1998  163.0

1999  166.6

2000  172.2

2001  177.1

2002  179.9

2003  184.0

2004  188.9

2005  195.3
2006 201.6 

2007 207.34

2008 215.30

2009 214.54
